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=
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x
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6,491,780

(Bt

5,360
5,360
5,360

4,800
4,800
23,010
23,010
73,010

37,810
37,810

35,143,988

el
IS

26,400
26,400
26,400
20,400
16,400

4,000
6,000
6,000
3,600
3,600
3,600
3,600
3,600
111,920
111,920
27,920

10,520
10,520

41,635,768

Ojl st

AbE 8 A A

29,500
11,548,000
1,769,600
28,288,668

ISRV

31,760
31,760
31,760
20,960
16,960
12,400

1,900
9,000
1,500

4,560
4,000

4,000
10,800
10,800
10,800

3,600
3,600
3,600
3,600
3,600
3,600

134,930

134,930

100,930
48,330
48,330

7,980
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9,000,000&
1,500,000&
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0JIEt=EHI

<
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oJ

4,000,000
300,000&*12&

8,000&+19
180,000 x5 &+ 123

S2Zl)

te|

OZ20Bl(3

202 04l
01 204l
gl2te|

ALH|
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0

al
o

H

01 AF22teld]
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70,0003 *1921+6

1,200

14,400

4,000
30,000
3,200
15,600
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30,000,000&
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2A Xgs
M TAIHE 2t

ool AR 22 (Sr9): &)
. S[E
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
ENEE] 15,600 14,400 7,200
OZAIHE P48 200, 00024501 122 12,000
OZe|He ZHYP +OIHI(EDI2 o)
100, 000215321+ 128 3,600
203 IR=ZIY| 3,000 3,000 0
03 Al E=Z SR =2 3,000 3,000 0
OXHLHD AIHYRE 3,000,002 3,000
207 S| 34,000 0 34,000
B 34,000 0 34,000
OMEZ LSS NGHLAIY TAXY 8
o 15,000, 0002 15,000
OZIIDIFY PHHALZE ()Y 8
9,000,002 19,000
CAHEESHA 2 34,000 34,000 0
201 LBr2Yy| 34,000 34,000 0
2 ZZ2Y| 34,000 34,000 0
OSAHEF LA S#SAIR 19,000,002 19,000
OSAHEZ2HA SR RXI22I8
15,000,002 15,000
AITHAY 6,879,875 0 6,879,875
= 300,000
2 6,579,875
N=IKsst TADIEHES 6,767,875 0 6,767,875
= 300,000
2 6,467,875
AT R T 15,170 0 15,170
201 LBr2Yy| 7,970 0 7,970
01 ArR 22l 4,370 0 4,370
OSZHI(TATHAUYPER)  8,000253215804! 1,920
OSAITHA SEAIY 89 TP Falsg
70,00024+791+53] 2,450
2 BZ2YY| 3,600 0 3,600
OZAIBE(3MH2)RX MBI
30,0002+ 122 3,600
202 o1t 7,200 0 7,200
01 2U0H] 7,200 0 7,200
OOIHI( SAIHMIR48)  200,0002+301% 128 7,200
SAIXIIBE FH| 648,250 0 648,250
301 YBFHS 8,250 0 8,250
09 EAAEINRS 8,250 0 8,250
OSARIHZE BATY L ZAHTH X2
37, 5002445501 +43] 8,250
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S BN =15
2 CAITNAY
=l NHJkse TADIEEY (

SR
% - (5]
S - FE - SRI(E) - HIRARY - BES il &k S HmEST
401 AlEHIZ 20| 640,000 0 640,000
01 Al&HI 640,000 0 640,000
OEASBE ANEE "A2elAY 20,000,000 20,000
OZAISE SHIDIAIY 20,000,000& 20,000
OF=HESJ AHZ ZXIAY 600,000,000 600,000
SAHEEZHE 400,000 0 400,000
401 AIEHIZ 2B 400,000 0 400,000
01 Al&HI 397,120 0 397,120
OSAN HEZAIHEEZZ HESA
397,120,000 397,120
03 A& =201 2,880 0 2,830
OAIE 20| 400, 000,000&*0.72% 2,880
CAHEEZ2IHE(BX) 600,000 0 600,000
o= 300,000
= 300,000
401 AIEHIZ 2B 600,000 0 600,000
o= 300,000
= 300,000
01 Al&HI 596,220 0 596,220
ONEXNT TAHEEZZ(AZ2-315H) HES
At 5%,220,000& 596,220
o= 300,000
= 296,220
03 A& =201l 3,780 0 3,780
OAIE 20| 600,000,000 *0.63% 3,780
SAAHEANE R E S 498,564 0 498,564
401 AlEHIZ2OHB| 498,564 0 498,564
01 Al&HI 495,000 0 495,000
OZAHEEZ IHEE ALY 20,000,000 20,000
OZAIXIS AKX =2 SHIDIAK
25,000,000& 25,000
ORNENHEE SAIZCIA (L=1.74km)
10,000,000& 10,000
OZEAMHEEZ =FEZ HEEAS
100,000,000& 100,000
OZAIXIS AJHN BHE S ANAIZ S=AtY
100,000,000& 100,000
OEAXSE E2=H S ZHIAIS
150,000,000& 150,000
OF KT AMERK E=A 50,000,000& 50,000
OMAETAIHETZ(EZ3-85H) Hi+=Z JY|
= 40,000,000& 40,000
03 A& =201l 3,564 0 3,564
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A XSESEE
HE: T AITHM
=2 XBIEsE SADIBtEd (el &)
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
OSAAHEANERXEs AIER0HI
495,000,000&*0.72% 3,564
D01 B AIHEAIEEYI 1,279,590 1,279,590
401 AlEHILSOHY] 1,279,590 1,279,590
01 Al&HI 1,275,000 1,275,000
OZAIHEAE 0IEEX 24 400,000,000 400,000
ONEZE X0 450,000,000 450,000
OXlcl0lE EBEFIE &MY
300,000,000 300,000
OZdd AMX A2 SEAY
100,000,000& 100,000
O HEANE(ER) 23 89 25,000,000& 25,000
03 Al&=0Hd| 4,590 4,590
OZII0IZAAIHEAILEH] AIEROHH
1,275,000,000&+0.36% 4,590
SAIZESIAY 2,035,301 2,035,301
401 AlEHILSOHY] 2,035,301 2,035,301
01 Al&HI 2,028,000 2,028,000
O/HEE S22 ART2 HEBAF
300,000,000 300,000
OtHe TAHEESZ(E52363H) MEDSE
W FHEZ FHIZA 70,000,000 70,000
OdlEelXl =8 BEFIE ZHAIE
120,000,000& 120,000
Ottt U=SHZE ZHISA 52,000,000& 52,000
OMEZAIHNESZ(E23-83H) BE &X=
At 56,000,000& 56,000
OAIE JelXl+ S2EEZ ALY
250,000,000 250,000
ONMENS AYEZ SELEIA}
300,000,000 300,000
Oty 2N EE2 JIEXE 8XA
70,000,000 70,000
Oty dUf =& & SE2 HESAM
50,000,000& 50,000
O ZTAIHEZZ2(AZ2-5054) ti=2&d|
L BEEXIBA 150,000,000& 150,000
Ottd DS Y= ZHISA
400,000,000 400,000
OAIsSH SHOE BEFIE TEAY
210,000,000 210,000
03 Al&=0Hd| 7,301 7,301
O AIZEASIAIY AIZROHYI
2,028,000,000&*0.36% 7,301
KNG AEXNJ(SALS2A2212) 637,000 637,000

- 324 -




AT
NHIbse TADEES (el &)
SH - ZH - S2I(3) - KIRA - BES Ol b e HmE=
401 AlEHIZ 20| 637,000 0 637,000
01 Al&Hl 637,000 0 637,000
Os222 Ale2ld A 637,000,000& 637,000
AMEZ TANY =0I=RALY 204,000 0 204,000
401 AIEHIZ 2B 204,000 0 204,000
01 Al&Hl 204,000 0 204,000
O&EZ AKX SAIH=EAE SHID| AFE
60,000,000 60,000
OY&E0ts 2+ ZHIBA 44,000,000 44,000
Ogbl ZSAXIUZ Ui EXISA
50,000,000 50,000
OAH E28 B& FHISA 50,000,000 50,000
MEC CAHM =0I==RIALY 100,000 0 100,000
401 AlEHIZ2OHB| 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
OMEZHATHKAI OtAZEEZAL 100,000,000 100,000
ANEH TAHY FRI=RALS 150,000 0 150,000
401 AlEHIZ2OHB| 150,000 0 150,000
01 Al&Hl 150,000 0 150,000
ONBTANEER(AR2-4954) HEIBAL
150,000,000 150,000
CHEE CAITHAY =RI=RIALY 80,000 0 80,000
401 AlEHIZ2OHB| 80,000 0 80,000
01 Al&Hl 80,000 0 80,000
Otd S =XE &MY
80,000,000 80,000
AIOHH CAITHA =Ol==RIAL 120,000 0 120,000
401 AlEHIZ2OHB| 120,000 0 120,000
01 Al&Hl 120,000 0 120,000
Odlot TAIHEEZ(AZ) 57 HUISA
100,000,000& 100,000
OQulor 2Bz =71 L ZA 20,000,000 20,000
SEAITHE =S A 112,000 0 112,000
SAITHM 2| SUlAel D] 112,000 0 112,000
101 I244| 98,000 0 98,000
M IRHHZ2Z2NSES 98,000 0 98,000
OSAITHAXIRAEH 29 2121H((22!)
98,000,000 98,000
201 LBH2AL| 14,000 0 14,000
01 AtR2telt] 9,000 0 9,000
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S RILHD
Hu: CAITA

SRl A =E A (2l &)
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
O A HHEA 2 9,000,000& 9,000
02 2224l 5,000 0 5,000
OEAMAX e 29 5,000,000& 5,000
SENLAIY 28,881,552 0 28,881,552
s 9,769,000
< 1,255,700
= 17,856,852
SENLAIS 14,518,552 0 14,518,552
SENLAH2S 4,008,552 0 4,008,552
201 2| 56,160 0 56, 160
01 A2teld| 11,160 0 11,160
OsEEANJEH Bt =ZH| 4,000,000& 4,000
OLBSAUENLAIS PPT MIZ
500, 0002 *4H A 2,000
ODISHALMBOIS| Alo| Balag
70,0003 *421+23] 560
OsrXZclgosl o a4
70,0003 *501+43] 1,400
OSH(sESMLLREE)  8,0002I%521x804! 3,200
02 2224l 45,000 0 45,000
OAIEH SHIAZE otEA Zi=a
150,000&* 122 1,800
O&Ex=X7 XSE2 OROICIN AMtHE S
150,000&* 123 1,800
Ouclas SIS EUIAIGE 2=
150,000&* 122 1,800
OUEEAS HASEEHIAIEE =
150,000&* 122 1,800
O¥=0EH? HMEZE Slt=  200,0008+128 2,400
ORclX+ EFE2Y S= 450,000 123 5,400
OsSE=SBHH(USSSE) ®)I193
5,000,000&+6& 30,000
202 Oid| 6,000 0 6,000
01 U AL 6,000 0 6,000
SENL LR 100,000& 501« 128 6,000
301 LBt2NSF 2,000 0 2,000
09 SHAAHIXIZE = 2,000 0 2,000
SESONRAME HAH B0 X2
2,000,000& 2,000
401 AlEHILSOHY] 1,924,392 0 1,924,392
01 Al&HI 1,920,000 0 1,920,000
OOt e JIBAIE ZHI A
1,000,000, 000& 1,000,000
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SN XX
BB SERLA
9l SENLA

. S[E
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
ONES =20 NS (ZaT =X
o) 450,000,000 450,000
OsESATME AZAY 150,000,000 150,000
OFBAS HEYS 2ISLUNES 80,000,000 80,000
OME TUHED D244 2ITA
20,000, 0002! 20,000
OFBNT SUOENLALEY FABRIAL
100,000, 002! 100,000
ONEBSSHSIE JHLHI(2L2)) DHES
At 120,000, 0002! 120,000
08 Al CH| 4,3% 4,39
ST 1,220,000, 00021%0. 36% 4,3%
408 KX EHHISXHZ0I T 2,000,000 2,000,000
02 2JIBSOIHE XA A ] 2,000,000 2,000,000
OMEBARA SBEARITAY
2,000,000,0008 2,000,000
405 TS| 20,000 20,000
01 IILEEFSH 20,000 20,000
OWEX 7 AN SETA(HE], AZD)|
) 20,000, 0002! 20,000
SAOIENZAIR (ATARR) (&) (R EARY) 2,000,000 2,000,000
NEFEET] 2,000,000 2,000,000
Al 1,992,800 1,992,800
OOHSRHE)| IBHLAMR (MBS SZ0KS)
330,000,002 330,000
OOHSRHED| TBIHLAR (AR H0LS)
330,000,002 330,000
OOHSRHE)| TBIHLAIR(AES (HEOIS)
330,000,002 330,000
OOHERHE)| TBIHLAIR(MES (HEOIS)
330,000,002 330,000
OnISSHS)| TSIHLMR (228 S2012)
330,000,002 330,000
OOHERHE)| TBIHLAIR(SAS JIE0IS)
342,800,002 342,800
03 Al CHHI 7,200 7,200
OAl&= | 2,000,000,00024x0.36% 7,200
UBHSMOIENLARY OflHIHE>e 10,000 10,000
207 AL 10,000 10,000
(IEREET] 10,000 10,000
ONZH A Ol e+ R B
10,000,0008!x141 10,000
220X XS A 3.500,000 3,500,000
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2A Xggs

M SENLA

SRl SENLAL (Sr9): &)
% - (5]
S - FE - SRI(E) - HIRARY - BES il &k S HmEST
401 AlEHIZ 20| 3,500,000 3,500,000
01 Al&HI 3,494,050 3,494,050
LRI CHRIZE AR 3,494,050,000& 3,494,050
03 A& =201l 5,950 5,950
OAIE 20| 3,500,000,000&*0. 17% 5,950
OHEXIT SADHE AN 5,000,000 5,000,000
401 AlEHIZ2OHB| 5,000,000 5,000,000
01 Al&HI 4,991,500 4,991,500
OMEX T TADHEAL 4,991,500,000& 4,991,500
03 A& =201 8,500 8,500
OAIE 20| 5,000,000,000&*0. 17% 8,500
LUBESAHEINEAS 14,363,000 14,363,000
[ 9,769,000
< 1,255,700
i 3,338,300
N2 AL (SEF ) 339,000 339,000
[ 231,000
o= 29,700
i 78,300
101 1248| 108,000 108,000
[ 69,300
o= 8,910
i 29,790
04 RN 2 EE 108,000 108,000
OsEBOHIH 2% 0121H](321)
108,000,000& 108,000
[ 69,300
o= 8,910
i 29,790
201 LBH2AL| 21,000 21,000
[ 14,700
o= 1,890
i 4,410
01 A2teld| 21,000 21,000
OHAINEAILE EE=SF MZE 10,000,000 10,000
[ 7,000
< 900
i 2,100
O NS AIEE NHZD MZE 11,000,000 11,000
= 7,700
< 990
i 2,310
207 AN 105,000 105,000
[ 73,500
o= 9,450
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SA:
X XH -
(e

o
chel:

AlSers
SENL AL

LES AU ENE AL

SA - FH - S2I(31) - KISAR

F:EE

Ojl st

el
IS

22,050

OIS2HAE &It X

OSZHEAEE 2AHKN W=

8,000,000

M H

19,000,000&

M

19,000,000&

M H

19,000,000&

M H

40,000,000&

M

105,000

8,000
5,600
720
1,680
19,000
13,300
1,710
3,990
19,000
13,300
1,710
3,990
19,000
13,300
1,710
3,990
40,000
28,000
3,600
8,400

M H

80,000
56,000

7,200
16,800

40,000,000&

M

20,000,000&

M H

20,000,000&

M H

80,000

40,000
28,000
3,600
8,400
20,000
14,000
1,800
4,200
20,000
14,000
1,800
4,200

M H

25,000
17,500
2,250
5,250

25,000

25,000,000&

M H

25,000

25,000
17,500
2,250
5,250

25,000

3,206,000

3,206,000
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SA:

AlSers

M =ENLAE
Sl UBHSAOIEINLALY (E42): )
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
ot 1,964,000
o= 253,000
= 989,000
403 XIS H=01& 3,206,000 3,206,000
s 1,964,000
o= 253,000
= 989,000
02 SII2S0ICHEtAI=E /ST AL 3,206,000 3,206,000
OLtEE sESHNEE A
3,206,000,000& 3,206,000
s 1,964,000
o= 253,000
= 989,000
e | =MEHE TGS 2,750,000 2,750,000
s 1,925,000
o= 248,000
= 577,000
403 XIS SAH=01& 2,750,000 2,750,000
s 1,925,000
o= 248,000
= 577,000
02 I 2S0lICHe =X IS AL 2,750,000 2,750,000
OXEH J|ZMEHEILAS
2,750,000,000& 2,750,000
s 1,925,000
o= 248,000
= 577,000
MU EH J|ZMEHEILAIS 2,348,000 2,348,000
s 1,644,000
o= 211,000
= 493,000
403 XX SHHISK20]& 2,348,000 2,348,000
s 1,644,000
o= 211,000
= 493,000
02 I 2S0lICHe =X LIS AL 2,348,000 2,348,000
OMBIEH J|=MENE T HA
2,348,000,000& 2,348,000
s 1,644,000
o= 211,000
= 493,000
Aot SESHXIEESIAY 3,007,000 3,007,000
s 2,105,000
o= 270,000
= 632,000
403 XX SHHISK20]& 3,007,000 3,007,000
s 2,105,000
o= 270,000
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2A:

N EShn

M STHLAIL
Sl UBHSAOIEINLALY (E42): )
= - i
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
= 632,000
02 S| 2SOUEA2X 2EAIH] 3,007,000 3,007,000
Ollotd sESH ALY
3,007,000,000& 3,007,000
= 2,105,000
& 270,000
= 632,000
AN J|ZHEHE I GAES 1,467,000 1,467,000
= 1,027,000
& 132,000
= 308,000
403 MXISHSAH=201A 1,467,000 1,467,000
= 1,027,000
& 132,000
= 308,000
02 S|S0 A2H 2EAIH 1,467,000 1,467,000
Oa&H JIZHENE LGS
1,467,000,000& 1,467,000
= 1,027,000
& 132,000
= 308,000
AN SESHNZHSIN(SEEY) 935,000 935,000
= 655,000
& 84,000
= 196,000
403 MXISHSAH=201A 935,000 935,000
= 655,000
& 84,000
= 196,000
02 S|S0 A2H 2EAIH 935,000 935,000
OAMH sESHNEHaME 935,000,000 935,000
= 655,000
& 84,000
= 196,000
HEs DI ZMENEREANL(SEEY) 311,000 311,000
= 218,000
& 28,000
= 65,000
403 MXISHSAH=201A 311,000 311,000
= 218,000
& 28,000
= 65,000
02 S|S0 A2H 2EAIH 311,000 311,000
OHdd J|=MEANZILAE 311,000,000 311,000
= 218,000
& 28,000
= 65,000




SA:

HE: FOE o E)EANM
ool S0|E FHBAINA (Sr9): &)
S5
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
ZAHY 2 FHERINM 3,161,631 7,151,700 3,990,069
2 29,500
= 30,900
2 3,101,231
NEES T 3,106,631 7,116,700 4,010,069
2 9,500
= 30,900
2 3,066,231
HNIFOl AZHT AUIAKIS 27,650 27,650 0
201 LBr2Yy| 14,450 14,450 0
01 ARt 3,130 18,130 0
OFeL 2t B3y 800
0FeE 100, 00024 +22 200
0F 5| AIAIE 50,00021455 250
EEEEY 70,00021455 350
OAEIRS BHLY 70,00021+2601x23] 3,640
OBTZASI} JIEX24L  180,00024+821433] 4,320
OBTAZAAFINS| BALY
70,00021%501x33] 1,050
OBSZURRISHIHAG BaLY
70,0002+ 1001%23] 1,400
OSZt| (FUYPEX) 8,0002+301+80A! 1,920
2 BZ2YY| 1,320 1,320 0
OSHH XEIZR HII23 60,0002+ 122 720
OATESS(AFO o) ®MII22
50,0002+ 122 600
202 01t 7,200 7,200 0
ENICE] 7,200 7,200 0
OOl (FAYP43) 200, 00024301 122 7,200
NCTEETT] 6,000 6,000 0
01 AI&H] 6,000 6,000 0
OSM X2 S3JY 1,500,0002%43] 6,000
HAZAC| J|SAIE KA 120,864 60,540 60,324
401 AIEBI L2 TH| 120,864 60,540 60,324
01 AI&IH] 120,000 60,000 60,000
OFRAFECHT| B KIRA (4IH4)
120,000, 0002 120,000
03 Al& ST 864 540 34
OFAFECHT| JIPAIL XIRAR SO
120,000, 00021%0.72% 864
SIESEETE A 43,500 22,000 21,500
= 13,050
2 30,450
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SA:

M Z=){0HY U ENEAINM
Sel SO{E EHEANA (E42): )
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
402 QIZHXHE01A 43,500 22,000 21,500
o= 13,050
i 30,450
02 QIZFRH2 A 2 (01 M THE) 43,500 22,000 21,500
OBIZEYIA 43,500
0YBIXE BIE HEI(EA)
1,000,000&*295 29,000
o= 8,700
i 20,300
SY0IEXS BIE HEI(EA)
500,000&*29= 14,500
o= 4,350
i 10,150
I =28 2= ZHIAE 50,540 25,270 25,270
401 AlEHILSOHY] 50,540 25,270 25,270
01 Al&HI 50,000 25,000 25,000
OJIE 222 HE ZUIAM(10S)
50,000,000 50,000
03 Al&=0Hd| 540 270 270
OIAE == A= EHIAMY 20|
50,000,000 1.08% 540
AE=L S AUFEAY 220,577 1,790,000 1,569,423
401 AlEHILSOHY] 220,577 0 220,577
01 Al&HI 219,000 0 219,000
OSSUUFE JIBIAIE HXIAIS
219,000,000 219,000
03 Al&=0Hd| 1,577 0 1,577
OZ23U=C JIBrAIE AXIAIY SOHYI
219,000,000 *0.72% 1,577
SHE ZOHU = JHEANS 19,000 19,000 0
= 9,500
o= 2,850
i 6,650
402 QIZ2EXHE0(HE 19,000 19,000 0
= 9,500
o= 2,850
i 6,650
03 QIZtRIEAIHHI 19,000 19,000 0
OS01& ZOHOIE JHEAY
3,800,000&*57}+ 19,000
= 9,500
o= 2,850
i 6,650
ST XA (REAIALS) 60,000 60,000 0
402 QIZHXHE=01A 60,000 60,000 0
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2 KSAeED
M Z)OMY L =) EANM
Cel: SOE =HEAMNS (EERE)
IE]
A - A(3H) - MIFRAY - BAE=S Ofl ot a‘&& HnE2
01 DIRFIZ A S (KA ) 60,000 60,000 0
OAFEIR DEZEH 22| XA
40,000, 0002 %3S+ K| *50% 60,000
ARD DETE Z2XIAA (01 THR) 50,000 14,000 36,000
[ 15,000
= 35,000
40P QI2FRHE0IA 50,000 14,000 36,000
[ 15,000
= 35,000
02 DIZFRIZ2 A B (0| FTHS) 50,000 14,000 36,000
OARS ZEZFE 22| XA
100,000, 0002 171 A*50% 50,000
[ 15,000
= 35,000
AOHHAIR A =5 AL 2,450,000 4,500,000 A2,050,000
403 REXISHHIEXRH=01H 2,450,000 4,500,000 A2,050,000
02 2| 2SS AH=R RIEAIS 2,450,000 4,500,000 A2,050,000
OHAIRA A= L DROIHZ=E HEIALY B
x=2 2,450,000,000% 2,450,000
BIE S| H 64,500 0 64,500
308 KXICHISOIA 64,500 0 64,500
SR =R EINET 64,500 0 64,500
OBIMEY|IHE 2 64,500,0002!* 14! 64,500
Znene 55,000 35,000 20,000
== 20,000
= 35,000
sy 35,000 35,000 0
201 Y2 5,000 5,000 0
2 22249 5,000 5,000 0
O=SAZDNZS(NEAHAIL, NHZDIE S22
2,500,0002%2JH A 5,000
401 Al&HI2 200 30,000 30,000 0
01 Al 30,000 30,000 0
OXIFAAI 2 XZZDT HY|ALY
10,000, 0002 *3JH A 30,000
SO DAIY X2 20,000 0 20,000
== 20,000
401 Al HI2 200 20,000 0 20,000
== 20,000
01 Al 20,000 0 20,000
OI=at NRAHAIL E= KRAS
10,000, 000 R*2JH A 20,000
== 20,000
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DA KIS
S OlcHEE A=A
CHol: FOHXIS MEO1I I (Srel: &)
- L5
SA - BB BRI(E) - IRAY - BES ofles e HIDE
o 428,000
QUKNT SHE FHAXNS H2HA 231,000 923,000 692,000
HEAISE (ME0HSAHY)
o 170,000
[ 18,000
= 43,000
403 NRIHISAH=01A 231,000 923,000 692,000
o 170,000
[ 18,000
= 43,000
02 S| 2SO S A2H 2EAI] 231,000 923,000 692,000
OLuXI+ 001’5 FANS A2 HITAS
(ME0HSA) 231,000,000 231,000
o 170,000
[ 18,000
= 43,000
C2A7 SHE FHAXNS d20A 516,000 443,000 73,000
HEAIS (ME0HSAHY)
o 381,000
[ 40,000
= 95,000
403 AXIEHSA=01E 516,000 443,000 73,000
o 381,000
[ 40,000
= 95,000
02 S| 2SOU 22X 2EAIH] 516,000 443,000 73,000
Ok2X+ sHE FHUAS H20AH A
(ME0ISAIY) 516,000,000 516,000
o 381,000
[ 40,000
= 95,000
otk SHE FHAXNS H2HA 583,000 499,000 84,000
HEAIS (ME0HESAHY)
o 437,000
[ 44,000
= 102,000
403 AXIEHSA=01E 583,000 499,000 84,000
o 437,000
[ 44,000
= 102,000
02 S|S0 A2H 2EAIH 583,000 499,000 84,000
OSBIXI T SOIE HOXIS MBI HWEA
(ME0ISAIY) 583,000,000 583,000
o 437,000
[ 44,000
= 102,000
HIAX T sOHE FHAXS H20HA 544,000 0 544,000
HEAIS (ME0HESAHY)
o 408,000
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A LR
Hu: DleHRE AIEZ
CHol: FOHKIS MBOIY I (Srel: &)
. S[E
SN - B SA(BH) - HITAY - BES Ol S HIDS2
= 27,000
2 95,000
403 RXISHHISXHR0I & 544,000 0 544,000
2 408,000
= 41,000
2 95,000
02 DI HSUHEXTER I ARIH] 544,000 0 544,000
OHNIID 01 Hemist 480i2 HENE
(MZ0H2AR) 544,000, 0002 544,000
2 408,000
= 41,000
2 95,000
PAKIT S0{E FHOHXIS M 01 516,000 0 516,000
pEIN=TOVEITEINI-)
2 383,000
= 40,000
2 93,000
403 RXISHHSXHR0I & 516,000 0 516,000
2 383,000
= 40,000
2 93,000
02 DS UHEXT =R I ARIH] 516,000 0 516,000
OPAKIT SOIE FHOIKIS MBI HEA
(MZ0HSAI) 516,000,000 516,000
2 383,000
= 40,000
2 93,000
SRSX HAE 2,700 202,700 200,000
SRRINASY 2,700 202,700 200,000
SNRI 29 2,700 2,700 0
201 k2| 2,700 2,700 0
01 ARt 2,700 2,700 0
OSBRI 222 N 20,0002+ 1007 2,000
OSARXIFIRS B4 70,0002+ 100! 700
WSS (N ALED) 70,000 0 70,000
B 70,000 0 70,000
EEETEE 70,000 0 70,000
802 BHEH2)IEf 70,000 0 70,000
@ Al - CHIEZ 2 70,000 0 70,000
02015 XIZIAHHOISIt AXIAIR! FgEHH(O]
puEeL) 00,0002 70,000
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